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Explain the action of a PID using pneumatic

controller.
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Industrial Automation
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Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
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Answer all Five questions from Group B, each question

carries 4marks.
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Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uift ufg yeal @ SR <, UAS U BT 91 6 AF 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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Write the properties of transfer functions. What are

the advantages of transfer function.
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10. Reduce the block diagram shown in fig(1) of a
separate sheet attached to a single loop transfer

function.
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Open loop control system is one in which
the control action:-

(a) Depends on the input signal

(b) Is independent of the desired output
(c) Depends on system variables

(d) Depends on system size
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The a. ¢ servomotor is basically a
(a) Universal motor

(b) Capacitor motor

(c) 2- Phase induction motor

(d) 3- Phase induction motor
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Answer all Five Questions .

. . ] 6x5=30
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7. Why automation is needed in the field of industry?

Describe the advantages of automation. 6
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(a) Draw the block diagram of one closed loop
control system. Give one example .

(b) Find the mathematical expression for the steady
state error in a closed loop unity feedback

system.
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Which of the following is an open loop
control system?

(a) Field controlled D. C motor

(b) Ward leonard control

(c) Metadyne

(d) Stroboscope
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Which of the systems has tendency to
oscillate?

(a) Open loop system

(b) Closed loop system

(c) Both (a) and (b)

(d) Neither (a) nor (b)
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4.

With the help of original and equivalent block (x)
diagram explain the following rules of block

diagram algebra

(a) Moving a summing point ahead of a block

(b) Moving a take off point ahead of a block
4

IRfdD U9 G solid ARG P qerdl (xi)
A e Irg o o freafalea el
&1 i &Y |
(®) AT @IsT &I <di® @ AT RaaHET
(@) <H—3i® WgT &l sdid d AT Rgadrr
(x1)
OR(3721dT)

Describe about a.c servomotor.

u. Al gafgiex &1 quis| &V | (i)

Write down the main differences between values

and sensors.
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Which of the following is used in digital
control system?

(a) Stepper motor

(b) a. ¢ servomotor

(c) Synchros

(d) d. ¢ servomotor
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PHold Ugfa § SUAIT Bdr 87
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(@) uft. waf#arex

(@) Raspit

(2) St wafdiex

Which of the following motor is suitable for
servomechanism.
(a) a.c series motor

(b) 1-¢ induction motor
(¢) 2-¢ induction motor
(d) 3-¢ induction motor
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GROUPB

Answer all Five Questions.
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Define open loop control system. Draw and explain
the block diagram of open loop control system in
brief.
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PLCs are.......... designed for the control of
wide variety of manufacturing machines and
systems.

(a) Special purpose industrial computers

(b) Personal computers

(c) Electro mechanical systems

(d) All of the above
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Proportional band of the controller is
expressed as.

(a) Gain

(b) Ratio

(c) Percentage

(d) Range of control variables
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